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HIT -I/PART -1
CIGREEIL] U9 {9/ CHILD DEVELOPMENT AND PEDAGOGY
féer : =it gedt % a7 a7 % g qag afd AweT g

Direction : Answer the following questions by selecting the most appropriate option.

1. fpeiEen & S @ 989 39 % fau 1. To cooperate the adolescent it is
MFTF 8 essential to
(1) SRR (1) Inspire
(2) T BT (2) Indicate his mistakes
(3) SIS BT (3) Criticise him
(4) TPRIHE FdelX HH (4) Do negative behaviour
2. Th 9 b AESIRTT o HATE &N 2. Which of the following is not a
ST "TsL Frffag & & H9-ar gl suitable technique used by . teachers
SUgH 7El & ! for socializing the child ?
(1) g fareqor (1) Direct teaching
(2) TR (2) Identification
(3) UeIa=ig STSIET (3) Democratic discipline
(4) AfT-GTET (4) Over-protection
3. T IR % dam & fawy & Fr=foiaa 3. Which of the following is a wrong
9 ¥ 77T FUT HA-aT 8 7 statement about emotions of an
adolescent ?
(1) |97 s oM g/ giafdd (1) Emotional  expressions  are
Bt B modified by learning.
(2) HT wIE Bar B (2) Emotions are permanent.
(3) 9OF T A REICE]] ﬂiﬁ B 2 (3) Every emotion is accompanied by
a feeling.
(4) FAT 9 IETEr A ST BT (4) Emotions are aroused by external
stimuli.
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qafa e @ aed &

(1) BfFFm F=arell & am Fe-He
¥ QU

(2) T f=arett @t faf= -t
q QU &

(3) AR Pranett # fafdre foemaat
q QX

(4) HARRF RTIST ® X T STRIH
SR T HT |

%Wﬁwaﬂgﬁw‘w
W] 99 S §

(1) frers =

(2) Hrr-faer @&
(3) wi-afeat &
(4) =R H@

Bl & AfoE gt @ geE w9 ey
fhaT ST T 8, 3 STeATs

(1) ISR Hedt & 9| H
(2) ©F I W SET F |
(3) Wer fEr @ Fear g |
(4) I1-Aarel @t ot X

fademeT o af & 3 drgan e
HIT BT HW § TGEEF B, o B

(1) 5 STIHE J& HE |

(2) A e, Ay, e ot
frepe fRremreT |

(3) B TGS FIA AR T HE |

(4) wfefer @ Rt @1 favae @ |
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(4)

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in
different classroom. '

(3) Meeting individual differences in
special schools.

(4) Meeting individual differences in
home based instruction.

In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups
(4) Films

Moral values can be -effectively

inculcated among the students when
teacher

(1) Frequently talks about values.
(2) Himself practices them.
(3) Tells stories of good persons.

(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,
evaluation and inference.

(3) creating and constructing

something.

(4) thinking about ways of reacting.
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8. @ X orHUEl EW fRAR |

Zaer # garay fafy &
(1) TH=E (2) TS
(3) wId=F  (4) FEEES

9. frefofed & ¥ #9-a1 feowEeEnr H
amiTE e #1 o a5 78 & 7

(1) 9 99 T H TH qihd &l
e

) fad fofm & ofe s 8Fr
(3) M g9t F srh F &

(4) fafire sfeml o R &

10. UF AR 99 99 &Y ¥ FE HCT L
N gF o a1 foeen, 39 e @
F &

(1) MG FIRX
(2) fewmamEs =aer
(3) T FIRIK

(4) af faea @@

11. GIUMFT SR 99T gEiEd

1) g& dem |
(2) TwieEt & e e |

(3) & g (W) g A
(4) TORE AT FE F
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(5)

10.

&

A

Best method of dealing with adolescent
by parents and teachers is

(1) Autocratic

(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer
group

(2) Being an attraction towards

opposite sex

(3) High
relationship

decrease in  friendly

(4) Extension of special interests

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour
(2) Developmental behaviour
(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1) Speaking accurately

committing

(2) Writing  without

mistakes
(3) Listening message properly

(49) Doing mathematical calculations

P.T.O.
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qAd AR A9F qHAET  (CCE) &
e e

(1) 9 9% H THAR F T
H |

(2) b & |l v # geiET E
(3) FAc B & S F TAHT H
(4) %9 B | GIH F TEA B |

FefcifEad & 4 FM-8 goeeE s
®l faer (Fraan) 787 7 ?

(1) faeaman
(2) Aifeewar

3) fagpsar
(4) A

AT ufeee 1 dred @
(1) 919% % 2ge § 89 ael gRadd |

(2) TR #r frerer gt § aRads )
(3) IegaRy & GARH |

(4) IR H YOl B

I @ SR e w9 B ® 7

(1) =2 & 9 & g9
(2) e AR

(3) Freimaeen & R
(4) JHEHEET B
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12,

13.

14.

15.

and  Comprehensive

Evaluation (CCE) aims to evaluate

Continuous

(1) The reasoning of child only.

(2) All aspects of development of
child. '

(3) The knowledge of child only.

(4) The understanding of child only.

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy

(4) Novelty

Learning outcomes means

(1) Change in the behaviour of the
student.

(2) Change in teaching method of the
teacher.

(3) Recognization of the subject-

matter.

(4) Completion of content.

Differentiation of emotions takes
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood
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IR b AR EEE A QU FE W
Frefofed § 4 -\ gEAE SugE
TeT e ?

(1) STl Gt 1 Ao Bl =T |

(2) I9PH G AR wE ITEH F
ST = |

(3) S= M (ﬁaf—r)-a?{émar%m
(4) FfFIEA AFEE FIAT R |

Rt & @iy, 9w =9 ¥ srwEfE
fpeMRt & |y & R gHE Fr IR
TR ?

(1) ST@EATES ST
(2) TSI JIRH
(3) dufed IurM

(4) e IIFH

HAGEHd g wEewyel g @
fde et @

(1) 919% & GRS faag 5

(2) TAF P qEITH g o
(3) aEF & RS frg o
(4) ACEF F GGl e §

U I8 NS & o0 GEq F s
F TAEER AT €, Hiih

(1) ZHY M 9 @R § gewE
foyeret 21

(2) UEgaE] H VIH FAN F HEHar
e 21

(3) UIEHAE] H W TP d GHE o
gegar et 21

(4) o9 G99 9 S99 o &
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16.

17.

18.

19.

A

Which of the following provision is

not suitable to meet individual

differences among learners ?
(1) Their abilities should be assessed.

(2) Adequate facilities and material
should be provided.

(3) Labelling them.
(4) Making Individualisation necessary.

Working with adolescents,

particularly maladjusted one, which is
not appropriate ?

(1) Critical approach

(2) Democratic approach
(3) Collective approach
(4) Ideal approach

Heredity plays most important role in

the

(1) Emotional development of the
child

(2) Social development of the child
(3) Physical development of the child
(4) Cultural development of the child

The
learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

2 It
interesting.

helps to make content

(3) It helps to understand the content
by simple methods.

(4) It saves time.
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TS THFX F ThE©n @ et §
P-4 fagwar 72 e ?

(1) fasgeEar  (2) g

(3) eram (4) AR

Mo war-wd & efaiag 8 @
P-4 fadwan ¥ ?

(1) BE B WERT @ g &4
frepd frepremr ol ore et &

T FA
(2) 5 RS, AEEEE ST T B

(3) JAGH MuFNE 9 BE
TMFRT Fl & |

(4) B ‘e’ I F qONQ €|

frfofag & 9 FH-a1 I & wE
qFeRd &N Uiquied Sifery & wraftes
frm 2 7

(1) 4wy & fam

(2) o9 #H FIH

(3) oTeiETeT @
(4) #gR #

s & SgER aws o aRE @
qraEel Wodied fgER ar & o
g & S o8, 38 famw e J
q F-6 oty F & o ¢

(1) Stu=iie Praree orafy
(2) o BT s
(3) d-frarce srafy
(4) =g Tiq sTEw

Level-3/178

(8)

20.

21.

22,

23.

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity
Which of the

characteristics of
classroom ?

(1) Students
draws conclusions and compare
their findings.

(2) Knowledge is objective, universal

the
constructivist

following is

design experiments,

and complete.

(3) Teacher transmits authoritative
knowledge to students.

(4) Students the
answer.

look for 'right'

Which of the following is the primary
law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period
(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period
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UF 6% F GOAHBAT B W A 8,
AFENE I I= B adT AT
foem &1 WY FHEN &, 98 SEeI §

(1) <X s 3T

(2) ST JaFAH A

(3) TFH =X

(4) 999 7 JgfRE 3T

qE VS HHGE W S R FEer

F O FA, FREET FE T g9
W@ F 999 F 8, Feandl o

(1) s

(2) HBEen

(3) gl

(4) SEEm

FB AT AT AWM A @A g
8 9§ it o 9=

(1) %W(I.Q.)'@I’cﬂﬁl

(2) AP afer (A.Q) Bt B1

(3) Wil @i (B.Q.) it B

(4) SeATiRe qfeT (S.Q.) B g |

fard A R Q99 # T % U
BT 2, fawa o1 g faer weann @

(1) faured ¥ uwasE

(@ DR (5T @ T @ o)

(3) "= § fafdme
(4) RRNE"

Level-3/178

(9)

24.

25.

26.

27.

A

A child is average on creativity, high
in academic achievement, poor in

social development. This 1is an

example of

(1) Inter individual differences
(2) Intra individual differences
(3) Individual differences

(4) Measurable individual differences

of mind that
and maintains

That internal state
arouses, directs
behaviour is called as

(1) Interest

(2) Opinion

(3) Attitude

(4) Motivation

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this
development is called

principle of

(1) Bilateral to unilateral
(2) Proximodistal
(3) General to specific

(4) Cephalo Caudal

P/ T. /0.
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UF BE aE 9 b fou #ew uftem
FT T 2| IEP far 7 I AW oiF

AN W HIETEET 39 FoaEr fEar g
Taa a7

(1) =R JTom

(2) dre o

(3) IR IR

(4) SRS T A Iom

AFHFEA  Biad SUFH P TEY H
frfefiad § & ot 99 79 @ 98 &

(1) Je Afermepar & Jranet, emarsit
AR ST A A Tl g

(2) g U, SEWIFA X @AY B
e W g &l B

(3) 98 TYE AN SIRTmHedt & s

TR 9T g 27 & |

(4) T& 9S-I, THE-GHITM,
qUEE-AEREE a9 gemdia-aed
St fafat @ s e B

¥ R N wWae T wEr @
gt g g=f & e H O OF
Fed & 7

(1) B
(2) G
(3) STEIHTT
(4) T9ETHA

(10)

28.

29,

30.

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.

It stresses the importance of

enquiry, observation and

investigation.

(3) It transmitting
knowledge to the learner by the

emphasises

teacher.

4)

It uses methods like experiential
learning, problem solving, concept
mapping and creative writing.

A child's attitude 'l do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/178
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(11) A
M - IVPART - 11
T -1 (=) / LANGUAGE - I (HINDI)
fader : it g9 % Iav @7 % g gag Jrad A% giT
31. Sy faded H qEeT 36. “afx g oM @ H off R Wy =l
(1) feafis = fagg + fm T4 919 &g @@ F ¢
(2) JHMER = O + €T (1) I IR
@ @it = w0 + & (2) TIeIHE aH
(4) T = &+ Y (3) iy g
32. ‘aid 9= § Pl Hood @M E ? (4) ST A
L 3 2 @ 37. ‘T S sifdEred & & T & gal
3) =™ (4) 7 ﬁ’—%\zﬁlﬂﬁ = &
33. ‘a8 Fora WX gwan B w8 - 3 fm () #79g
UF 9= g (2) FEH
(1) ST (3) T g
(2) oTHEE
(3) SATHIT @) Y
y . 38. fhm o H @ug @l gfte 4 Fef @
& S v 7, ofvg P aRd T R
34. S TRrE S Wl A P @@ - T & 7
F fou o 9= @ (1) "Es
(1) gfea (2) FI=
(2) SARrEREH (3) @Yy
(3) SiftTafereRr (4) @THR
@ 39. b9 W= H q wog H T gE &9
35. =1 gt & § P9-T1 9= ‘@@'R 7 q T gme ?
(1) T (1) et
©2) R (2) Qe
(3) THEY (3) T
(4) Gt (4) W
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W @A @ gwm P 3@ g §
FOEIREAEILRIEI B

(1) g g

(2) | o

(3) ST 9

(4) @Ry qq

AT i gfte § U 9= ;R 7
(1) =g

(2) HEaTEE el

(3) farsgryor

(4) g&m

F-E1 T T A 78T E 7
(1) FEs

(2) fafdrEmas

(3) =9

(4) fafarg

MR = B el g 2

(1) T6 + 4

2 T6 + &

(3) T + 9@

(4) M+ 7

Irliea o= F1 TEg Wi sy am
(1) A + 9T

(2) A + g9a¥

(3) AT + X

(4) AT + 9K
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45.

46.

47.

48'

49,

fe=l @ ‘@ @i R #i gt § §
(1) SFIITOT-FE

(2) HEMIoT-Hay

(3) IFCYATOT-3TEY

(4) TRTHTOT-STEY

e U= H S0P @O BT
L

(1) fafar qagsy

(2) FEmE qgey

(3) Wl eYEY

(4) =gl qgEy

g7 @ q9, do, adwE — AR @
fom @ef ord @1 Tge Fifng

(1) WEME & S i fageran

(2) T, dd, TSl & [T dER oty B
(3) ITELH aEgel & &

(4) Teell d g § B9 A

Iue fed g= ®
(1) g

(2 g
(3) ST
(4) R

o7& [ & T
(1) o3

(2) SFHT-TYIHT
(3) THIE-f e
(4) STYOT-TEoT
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‘Frare’ b o @ I= B ?

(1) TR

2) HreE

(3) St

(4) f&=it

g =
N & o T 9= & T B

(1) o/

2 =

(3) TH

(4) SR

fre s/ # FHURE @G # W 78T
g e ?

(1) HerEr

(2) T

(3) st

(4) FHAHAA

A’ QT T YfeRTT B 7
(1) g

@

(3)

(4) A

fra o= & faeet @iy @ v 78 gen
g7

(1) ST

2) PR

(3) garioH

(4) TedE

.............
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55. g acHl A 9 By

(1) ZEqiaE
(2) i

(3) HiHfc®
(4) oM

3T - [T T # YeET 3T 9T SEIRa
78 78 FFF (70T e 56 A 60) & I A

I § WO 3 e @ o @l
AHC & SffeRadl SR TE 9K faddt @}
FHET G USA &1 Th W W A Ww 9
T O ordld & UdS foEd @ wuU AqEA @
e e ¥ ol gEt ' W @ ‘o € Sl
3 B U UHEN H Hae # gfe | @A ©
A T B SMYgfE T & o F 3@ A
N TE I 2|

ARAE A WO # OAEE Al el
e & oy 39 Sfum & geAifhd ol degE
giefsfa off fem B W e #® o
Wouardt gue & &9 sfefed R omer @
fred g @ 78 g @1 S & R e
T ¥ ¥l FP T G 8| WO & M
qREds & AR T B g B

dfew  dfeastt @1 FHaww  FeaRt @

iy Sufel § & @ T o 5 AR aem
3 & A A @R @ g Aeq g% 4 9

ot aEe # g R e 3 @ o= 9

I o F g ARE EFEm wWaw & e
TR G & @9 § gme ol o Hem
ey ¥ giefawas ai@e T &1 g8 adte
foae @ e fad g ded oy #7d @
q| 9 URRAH TE qH G OGO g Al ST
HAT-HEleY & ol ARG H Aoiad  Jomet
H B S T MYR FHAl H T O BH

P. 1 O,
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A
AR H AR A A A G T ogen
gy fay § 999 Rrsrd @ o 3 Ay
M oA ofeee X g 7y uREr 3 el
geel | A T A F | AT g e

¥ 3 g9 wbR @Red & T fF 3% g wow
% B9 7 G GG 7L |

T8 990 & AREE WO # G ) o
FH e B BIEH T TTA F AN TG
& € I M TR B Jea ggEr 2
TS SfiEEEl F AR Tl #R 0
TET g o1 g WOelt & fsedyer # e
a1 GREds SR aforsty @ g dRom W e
I EE W F A W FP O g
9RO o gg R guiom eq e
T @ E |

- T TR w6 R oo @ ge awd
WU B @i B IeM Yel W 98
A @Y B S| WA A # ey
Ud difEdal & AW W gE AT F heay §
gl 1 T AfeF G o T R e
Forg ik aex ot Wi 7 oo & g g ®
difes @9 & @ 91 F f g oa ¥
AU P g o degar aReEhia e
ol EEE & U SEd 99 o g8 ¥ B wuw
F1 &b § oreed R o |

56. WG FHST & fA9war &
(1) 9 RRER
(2) WU ey
(3) WU % |9 gREeE
(4) Rt faepeq e &

(14)

57.

58.

59.

60.

Med g et &

() BFEE TEE

(i) He™M G9EE %

(iii) avf e &

(iv) gite fawas afeweaT &
I IAX faseT g -
(1) () T ()

(2) (i) T (iv)

(3) Haq (iii)

(4) F99 (ii)

A &1 ST JoTel & SEEr f=ar
(1) 9 | (2) FfEr A
3) N 5 (4) drEt A

fsetyor & wqraref &
(1) 3ed
2 fraE

(3) =FEAT
(4) HiEHr Hgq

EA=Aa AR | difes e 2
(1) emyfear

(2) URUN F ST

(3) ol P HIEY F @I HEA
(4) g 3R o

Level-3/178
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(15)

I - II/PART - 11
TS - 11 (${35HT)/LANGUAGE - I (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

61. Choose the correct passive form of 64. ‘I don't enjoy going to the dentist.
the verb in bracket in the given The word ‘'going' in the above
sentence : sentence 1s a/an
[ suddenly realized I (watch). (1) Present participle
(1) am being watched (2) Infinitive
(2) have been watched (3) Perfect participle

3) am watched
® (4) Gerund
(4) was being watched
65. Choose the correct indirect speech of
62. I must finish this. the given sentence :
The underlined word in the above Mother said, "Don't go to the park."
sentence indicates (1) Mother asked us not to go to the
(1) Necessity park.
‘(2) - O (2) Mother told us not to go to the
park.
(3) Wish _
(3) Mother said us not to go to the
(4) Habit park.
: (4) Mother said to us to not to go to
63. Choose the correct suffix to form the
the park.
word. The meaning of the word is
REYem: 66. Which of the following expression
§'y) 1) P = Plentiful means 'extremely happy' ?
(1) ous (1) be a basket case
(2) some (2) fall off your perch
(3) ose (3) be off your trolley
(4) ful (4) on cloud nine

"Level-3/178

P.T.O.



67.

68.

69.

http://haryanatet.com

Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at
auction.

(2) The painting will be sold by the
auctioneers at auction.

(3) The painting will be sold at
auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/178

(16)

Direction : (. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

71.

72.

(1) My brother is the student in
Mayo College.

(2) My brother is student of Mayo
College.
(83) My brother is a student in the

Mayo College.

(4) My brother is a student in Mayo

College.

(1)

Neither of them were present

there.

Neither of them was present

there.

(2

(3) Neither of them present there.

Neither of them are present

there.

(4)
(1) The roses smell sweet.
(2) The roses smell sweetly.

The roses are smelling sweetly.

(3

The roses are sweetly smelling.

4
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73. (1) You certainly did not ought to do
it.
(2) You certainly ought not to have
done it.
(3) You certainly did not ought to
have done it.
(4) You certainly ought not to have
been done it.
74. (1) Who was the book given to ?
(2) Who the book was given to ?
(3) The book was given to who ?
(4) Whom was the book given to ?
75. Choose the correct phonetic
transcription of the word 'Locate'
(1) Nuket/
(2) /lokeit/
(8) /ou'keit/
(4) /louket/
Level-3/178

(17)

77

78.

A

76- Choose the correct direct speech of

the given reported speech :

He said I'd better go because it was late.

(1

He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

(4)

He said, "You'd better go because

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?
(4) They are different from rest.

P. 1.0,
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79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when [ said [ wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

(3) My father put his foot down when

I said I wanted a car for my

seventeenth birthday. He said [

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Level-3/178

(18)

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how
many wits, how many geniuses, how many
dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
is the utter of all

requisites absence

pretension.

The vulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinet, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
unbiased freedom of mind which is
necessary to its receiving and giving their
to ordinary and casual

due weight

impressions.
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(19) A
81. Common sense is a rare and enviable 84. Fill in the blank with the most
quality because appropriate word :
(1) Its price is above rubies Common sense has been well
(2) All learned men have it pronounced to be ‘fairly worth the
(3) All men are without it seven’ ........ceeee... .
(4) Very few have it (1) Notions

(2) Sciences

82. What is not a requisite of common

5 (3) Talents
sense 7

(4) Wits
(1) the utter absence of all

pretension
85. Which is not a synonym of the word
(2) bigotry and narrow minded 'pedant’ ?
notions
(1) dogmatist

(3) truth and propriety
(2) formalist

(4) an unbiased freedom of mind ‘
(3) perfectionist

83. Which of the following is not stated (4) down-to-earth

by the writer in the passage ?
Direction : (Q. Nos. 86 to 90) : Fill in the

(1) Affectation destroys common . . :
blanks with the most suitable option :

sense.
(2) Common sense requires the BB cniis child should learn to read and
utmost simplicity and sincerity. write
(3) Common sense feels the air of 1) All
truth and propriety as the fingers
feel objects of touch. (2) Every
(4) Common sense destroys the (3) Whole
native simplicity and d
plicity warps an 4) Both

trammels the freedom of mind.

Level-3/178 P, 0.
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87. Can I ask your ..........., do you think 89. Take some medicine and the pain will

TV violence is harmful ?

20 i .
(1) opinion (1) back
(2) favour (2) off
(3) out
(3) question
(4) away
(4) advice
90. The walkers finally arrived at their
88. Where is my wallet ? I left it ............. destination. They ............. all day, and
the kitchen table. they certainly needed a rest. They ......
thirty miles.
(1) at
(1) had been walking; had walked
(2) in .
(2) had walked; had been walking
(3) on (3) walked; walked
(4) by : (4) have been walking; had walked

Level-3/178
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AT -IV/PART - IV

TRTA/MATHEMATICS
RS : [firea g9 # e @7 % kv g98 3fr Aweq AT

Direction : Answer the following questions by selecting the most appropriate option.

91. HHFHNG Hﬁﬁ r=ae™® I gﬂ q
oA Al @ S a2
(1) 2r 2) r
3) 4r 4) 3r
92. lim x* 4 =
T2 x3 _4x? 4 4x
(1) 0 2 2
3) 4 (4) o
93. AR WRY @ T p F &= FT 6
WRAM .51 =laxpl, @0
H O B
T
1 o (2) 1
(3)% ) =

91.

92.

93.

The length of chord of curvature

through the pole of the equiangular

spiral r=ae™ is

(1 2r 2) r

3) 4r (4) 3r
2_4

lim x =

"—*2|:x3 —4x? +4x}

(1) 0 (2 2

(3) 4 4) o

If 6 is the angle between any two
vectors @ andi;+ such that | a. “g | =
| ax T; |, then 6 is equal to

s
1) 0 @
3) 12‘— ) =

% Fd % AT STE/SPACE FOR ROUGH WORK

Level-3/178
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94,

95.

96.
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sin gin & HE BT

1 .
(1) 3 2 3
(3) -‘/25 4 0

12 492482 44% ..., +n? =
n(n+1)
2

n(n+1)2n+1)
6

n(n—-1)(n-2)
6

n(n-1)
2

% 9y% =23 % 3 fog o Fw, ot
REQIRC |2 G e o BCS  =  =
ITEUE T B

8 8
3
] @ [i 4’5)

1)

(3)

(4)

(3) [4, . 3

w|w

(22)

94,

95.

96.

. 3lm .
sin —— is equal to

(1) % @ 3
3 ﬁ 4) 0

2
12422482 4 4% 4 ihn? =

n(n+1)
(1) 5
) n(n+1)(2n +1)

_ 6
3) nn-1)(n-2)

6

n(n-1)

(4) 2

The points on the curve 9y% =x?

where the normal to the curve makes
equal intercepts with the axes are

8 8
W (“'ig) @ (-4,—§j

3 3
o (123 @ [s02)

1% %14 3 U FT2/SPACE FOR ROUGH WORK

Level-3/178
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98.

99.

100.
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IR a, B, y THECT ax® +bx? +cx +d =0
e qa E?T, ar afy =

(1) -b/a (2) c/a
(3) —d/a 4) 1
TH yl=4x, y- TM y = 3 @
aRes &9 & 4% B
9
1) 2 2) =
(1) (2) 2
9 9
%) — 5 =
(3) 3 4) 2
Ly - .
8 19 10
(1) 8 (2 9
(3) 10 (4) 100

(x2 —llp2 —2xyp+y2 -1=0 % ffE=m
& B

(1) x2
2 x2+y%2=4
3 x2-9%2=1

@ x?-y?=4

(23)

917.

98.

99.

100,

A

If 9 B 9 roots  of

ax® +bx? +cx+d =0, then afy =

are

(1) -b/a (2) c¢/a

3) -d/a 4 1

Area of the region bounded by the curve
yz =4x, y-axis and the liney =3 is

9
(1 2 2) 1
9
® @) %
It éJ'é_E’ then x =
1 8 @ 9
@) 10 ) 100
The . snguler  solution  of

(x2~1}p2—2xyp+y2—1:0 i8
() x2+y2=1
@ x%+y%=4
(3) x2~y2=1

4) x2-y%=4

% &1 3 U TT8/SPACE FOR ROUGH WORK

Level-3/178

P, T.0;



101.

102.

103.

104,
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34 fag @ Feuid s Fifm o fargat
(4, -3) T (8, 5) F SIed I TWEETS Fl
e 9 & 3 : 1% Iy § i
A &

O @37 (2 G, 49

3 (7,3 4) 3,3)

wh o AR A 30° F W 1962 Ao
% a7 § vafd Rem S ® 1 9gEed
P 8

(1) 19%"8 (2) 2 A%
(3) 25 ¥FE (4) 3 YF'S
Wﬁ'qy2=4ax '{E?ﬂ%
(1) T griaes sr=edsti
(2) & TR ST
(3) &2 arfad el
(4) B gRARH STwEst &

qﬁA:[Z _2},63[ Al=

4 3

1[3 2 3 -4
EL:; 2] @ [2 2]

11-2 2 1|4
E[—4 -3](4) H[z _9]

1)

]
ml"'

3)

(24)

101.

102.

103.

104.

Find the coordinates of a point which
cuts the line segment connecting
(4, -3) and (8, 5) internally in ratio
3:1

1) @3,7) 2 G4

3) (7,3 4) 3,3)

A particle is projected at an angle 30°
to the horizon with a velocity of
1962 cm/sec. The time of flight is

(1) 1 sec. (2) 2 sec.
(3) 2.5 sec. (4) 3 sec.

The parabola y2 =4ax possesses
(1)
(2)
(3)
(4)

one real asymptote
two real asymptotes
many real asymptotes

no real asymptote

If A:{2 _2j|, then A7l =

4 3
13 2 1|3 -4.
oML HN
14|-4 2 282 2

i e 2
14|-4 -3 14|12 -2

(D)

(3)

1% $14 & U TE/SPACE FOR ROUGH WORK

Level-3/178
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105. faFg (1, -1) 3 (3, 5) # e aRA @

F GHIHT B

(1) 3x-y+4=0
(2) -3x+y+4=0
B) x-3y+4=0
4) x+3y+4=0

106 [—E—-

V9x — 4x2

(1) —sm <1 9%

(3 )
[Bx 9)

9

oo

+C

(2) —sm =1 +c

9x —

03

+C

(3) %sm 1(

_ Q)
(4) —l-sin‘l[—gx 8 +c
2 9 )

107. I f:R>R, f(x)=3B-x%)3 3 &y

¥ oftnfyd B, @ fof (x) AW
1 x3 @ x°

@) x 4 (3-x2)

(25)

105.

106.

107.

A

Equation of line joining (1, —1) and
(3, 5) is

(1) 3x-y+4=0
(2) -3x+y+4=0
B) x-3y+4=0

(4) x+3y+4=0

_[ dx
V9x — 4x2

/
(1) ls‘inF1 9%
9 \

_3)
+c
(8x —

2) %sin_l\ 5 )

©o

+

c

9x —

[0 =]

3) %sin‘1 +c
4) ls;in'lfgx_gj+c
2 . 9
If f: R - R be given by
f(x)=(B-x*)!"3 then fof (x) is
1 x!/3 @ x3
@) x @ (3-x%)

% &4 & U SE/SPACE FOR ROUGH WORK

Level-3/178
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A (26)
108. 1= & | FH-91 qY=g FURME & 7 108. Which of the following is infinite set ?
1) {c:xeN(x-1)(x-2)=0) 1) fx:ixe N (x-1) @x-2) =0}
2) {x:xeN; x% =4} @) {x:xeN: x% =4}
3) {x:xeN;2x-1=0} (3) {x:xeN;2x-1=0)
(4) {x:xe N;xis odd} (4) {x:xe N; xis odd}
109. -1—1—1 3 A9 9 HNE BRI 109. Find modulus&argumentof-l—}.-g
M 1,2 @ .1 M 1,5 @ 2.1
@ -tz . @y~ @ -1, @ 1,-2
110. zrf‘&_A{“ B]aan AZ=1d) @ 110. If A:[“ B} is such that A2=1,
Y -a -
then
1) 1+a?+py=0 (1) 1+a?+Py=0
@ 1-a2+Py=0 @ 1-a?+py=0
@ 1-02-py=0 3) 1-a?-py=0
4) 1+aZ-By=0 @) 1+a®-pr=0

% & P [T Te/SPACE FOR ROUGH WORK

Level-3/178



111,

112.

113.
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2l 9290 A9 B @ &
(1) P(A'B')=[1-P(A)][1- P(B)]
2) PA) = P(B)

(3) PA)+PB) =1

(4) P(AB) # P(A) P(B)

3sin£seclt-—~4sin§7£cm:E =
6 3 4

(1) 0
(3) 2
afe Tt & FEwE 5, 0) q9r ot 3

Fésti® (+13, 0) &, & dfgw @1 g
B

@) -1
“ 1

2 2
) =neds =y
169 144

2 W2
@) S+
144 169
2 2
) LI S
169

2
¥’

A =l

W et 144

(27)

111.

112,

113.

-(2) P(A)

A

Two events A and B will be

independent if
(1) P(AB
= P(B)

(3) PA)+PB)=1
(4) P(AB) # P(A) P(B)

") =[1-P(A)][1- P(B)]

3sin£sec£—4sin5—ncot3 =
6 3 6 4

(1) 0
3) 2

2 -1
(4) 1

If coordinates of focus (5, 0) &
vertices (+13, 0), then equation of
ellipse will be

2 2
(1) x ¥ =1
169 144

@ —+L_=1

@ Z -2
144 169

x2 y2

4
“) 169 144

% & & U FE/SPACE FOR ROUGH WORK

Level-3/178
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114, f=fafad & § sF-9 gen Bl gen

115.

116.

F midear 7&F & el ?
2

(1)5

(3) 15% (4) 0.7

Ja T H TR HA T, AHH

agx” +a1x" 1 +....+a, =0 B T H

T qE T 0 I 1 F HA B, IR

(2 -15

(1) i R SO +Qp-] =
n n-1

@ 2hopThec  wm sedd
n-1 n-2

3

nag +(n-1ay +....+a,_1 =0

4) +—=+...+a, =0
n+l n

DI xﬂ+ylogy=xyex, ar
dx

(1) logy=2xe* +¢

(2)
3
(4)

xlogy=e*(x-1)+c
xTlogy=e*(x+1)+c

xlogy=e“(x+2)+c

(28)

114.

115.

116.

Which
cannot be a probability of an event ?

of the following number

2
(1) 3 2 -1.5

3) 15% (4) 0.7

Using Rolle's theorem, the equation

n-1 i,

agx” +ax weeta, =0 has at

least one root between 0 and 1, if

ap a

(1) —+——+....+a,1 =0
n n-1
ap aq
2 +——t....+a, 9 =0
@ n-1 n-2 g
(3) nag+(n-1a; +....+a,_1 =0
a
(4) 20 %, . +a, =0
n+l n

If xi‘)i+ylogy=xye", then
dx

(1) logy=xe* +c
(2) xlogy=e*(x-1+c
3) x llogy=e“(x+1)+c

(4) xlogy=e*(x+2)+c

6 1 3 [T SFE/SPACE FOR ROUGH WORK

Level-3/178



117.

118,

119.
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qsh y=2x2+331nx H T x=0wW
e B sEemEr nft

@ X

1
1) 3 3

1
(3 -3 4) -3

e & § - g geae saEd
eI B 7

(1) (4x+6y+5)dy—(By+2x+4)dx=0
@ (xy)dx-(x3+y%)dy=0
(3) (x3+2y2)dx+2xydy=0

(4) ygdx+(x2 —m—yz)dy=0

frelt Byt ABCH
asin (B-C) + bsin (C-A) +csin (A- B)=
1) 1 @ 0

3 -1 4) 2

(29)

117,

118.

119.

A

The slope of the normal to the curve
y=2x% +3sinx atx=0is

1

(1 3 (2) 3

1

3) -3 3

(4

Which of the following equation is a
homogeneous differential equation ?

(1) 4x+6y+5)dy—By+2x+4)dx=0
@ (o)dx—(x +33)dy=0

(3) (x3 +2y2)dx+2xy dy=0

(4) y"j"alx+(x2 —xy—yz)dy =0

In a triangle ABC :
asin(B-C)+bsin (C-A)+csin(A-B)=
(1 1 (2 0

3 -1 4) 2

% #1d % [T FTE/SPACE FOR ROUGH WORK

Level-3/178
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120. TF a2x2 +b2 2=(x2+y2)2 q9C =

121.

122,

http://haryanatet.com

fog B

(1) e

(2) IHIW

(3) fag forg

(4) i oREd fag

40°20" F7 g9 & 79 B
121xn . H40n

) 540 @) 121
121 540

@) 540 “) 121n

HTHA  FHIHT %—x—+P1x=Ql

Y
qg & BN

(1) yel A% - I[Qlef P“’] dy+c
(2) y.emdx = I(Qlefﬂdx]dx+c
3) 200 A J-(Qlemdy)dwrc

4) x. eJPldx = I(Qlej Pldx) dx+c

(30)

120.

121.

122.

The origin on 2the curve
a’x? +b2y2 ={x2 +y2 isa

(1) node

(2) cusp

(3) conjugate point

(4) point of inflexion

Value of 40°20" in Radian is

121n 540n
1 2
M 540 @ 121
121 ; 540
3 4
® 5407 @ 121w

The general solution of a differential

G+
equation of the type 3—— +Px=@Q, is
Y

1) yel A% - I[Qlef P”’] dy+c
2) y. eIPldx = I[Qlejﬂdx) dx +c
® x.el M @l ) dy+c

4) =x. eJ g L I(Qlef Pldx] dx+c

1% Fd % [T SE/SPACE FOR ROUGH WORK

Level-3/178
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124,

125.

126.
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x % §R gwfls e @ R

2
o F AT A A
l+x+x
(1) 0 2 1

1
3 3 (4) 3

(3)
(4) 45° HT W b T

4x+3<6x+ T H &F BN

(1) (-2, x) (2 (-2,+2)

3) (=2,0) (4) (2, »)

e p U s G B B o<p< 1
Gﬁ'{xaﬂ'{'yﬂﬁ'ﬂﬁ?ﬁﬁ@lﬁ%ﬁﬁx<y,
- _
(1) p*<p” (@ p’>p*>1

@) p>>1>p* (4) p*>p”

(31)

123.

124,

125.

126.

A

For all real values of x, the minimum

1—x+x2 .
value of ————— s

1+x+.:uc2

() 0 2 1

@) 3 4) %

If axb=0cx and axc= ?Xz,

el &.

then vectors -d and b-¢ are

(1) equal
(2) parallel
(3) perpendicular

(4) inclined at an angle 45°

Solve 4x+ 3 < 6x+ 7
(1) (=2, ) (2) (-2, +2)
(3) (-2, 0) 4) (2, »)

If p is a real number such that
0 < p<1and x and y are real

numbers with x <y, then
(M p*<p” (@ p’>p*>1

() p?>1>p* 4 p*>p?

6 4 @ [¥U STE/SPACE FOR ROUGH WORK

Level-3/178
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A

127.

128.

129.
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cos 2x =

_ 2
) 1 tanzx
l1+tan“x

1+tan®x
@)

1-tan?x

2tanx
(3)

1+l:an2 x

1-tan®x
2tanx

oq Brye @1 &wa @@ e e @
g 8 AW g 11 Ff q ofem
32 4 &

4)

(1 8 2 /30
3) 8430 (4) 308

gt wF gw @ GRS A
qeqHs ©9 ¥ qUEK §, al 39 g9
foroam 2

(1) 1358
(3) n3H3

©2) 233
(4) 17

(32)

127.

128.

129.

cos 2x =

1-tan®x
n ——
l1+tan“x

2
@) l+tan“x

1-tan®x

2tanx
3)

1+tan2x

1-tanZx
k) ————
2tanx
The area of a triangle with two sides

8 cm and 11 cm and whose perimeter

is 32 cm, is
1) 8 2 30
3) 8+/30 4) 3048

If perimeter and area of a circle is
equal numerically, then radius of the

circle is
(1) 1 unit (2) 2 unit
(3) munit (4) 7 unit

TF & P RIT SE/SPACE FOR ROUGH WORK

Level-3/178
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131.

132,

133.
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et x2+y2 +zz+4x—-8y+32=5 L

(1,0, 1) 8 @ 72 wst Y@ # = 2

1) 2 2 3
(3) 4 4 9

A f: R > R flx)=x*3 =7 &
gferfia 2, &

(1) [ THE WS 8
(2) f 9gUHI STBEE &
(3) f UHH HEBEE 2
(4) f 7 THP A WEF 3

FHHET g 4x + py + 8 = 0
2x + 2y + 2= 0 F AEF & arm, 3

(1) p#4 (2) p=2

@) p=1 4) p=0
n 2"

ot e ?

(1) fmEr

(2) STqEr

(3) wufcEy afErd

(4) 9 @ IErd & X 7 & sruErd

(33)

130.

131.

132,

133.

A

The length of tangent from (1, 0, 1) to
the sphere x% + y2 + 2% +4x—8y+32=5
is

(1) 2 (2) 3

3 4 4 9

If f: R - R be defined as f(x)=x?,
then

(1) f is one-one onto

(2) f is many-one onto

(3) f is one-one but not onto

(4) f is neither one-one nor onto

Pair of equations 4x + py + 8 = 0 and
2x + 2y + 2 = 0 have unique solution, if

(1) p#4
3 p#1

(2) p=2
(4) p#0

n
The series Z n 2 s

nn

(1)
(2)
3
(4)

convergent
divergent
conditionally convergent

neither convergent nor divergent

% #d 3 U TTE/SPACE FOR ROUGH WORK

Level-3/178
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A

134, frey wad § § BA T [o,i
e X =Ea e ?

(1) sinx (2) cos 2x

(3) cos 3x (4) tanx

185.
F= g g el

(1) (-4,-5;7 (2) (-8,-10); 14

(3) (4,5); 7 (4) (8, 10); 14

136.
ol

u_ov
ox oy
61;_@

3y ox

1)

(2)

u__v

(3) % o

u_ &

(4) o ox

)8

ga 2x2+2y2 +16x+20y-16=0 &

g% x=u+e’sinu, y=v+e” cosu,

(34)

134.

135.

136.

(1) sinx

Which of the following functions are

strictly decreasing on [0%} 2

(2) cos 2x

(3) cos 3x (4) tanx

Centre and radius of the circle
2x% +2y% +16x+20y-16=0 be

(1) -4,-5);7 (2 (-8,-10); 14

(3) (4,5); 7 (4) (8, 10); 14

If x=u+e?sinu, y=v+e’cosu,

then

u_a

ox Oy

u_av

dy Ox

ou__ov
ox oy

(1
(2)

3

au_*@

(4) o ox

% F4 & AU SE/SPACE FOR ROUGH WORK

Level-3/178
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137. e :
f(x)= 1 , 99xomiRigd
-1, 99xuidge

g

138.

139.

(1) %99 x=0 X THad 2

(2) g 9FHT 9T SrHed 2

(3) e IAURHT W Tad &

@) x % wh aafs AW 9¢ ot

o g =8 5 -5

4 16 64

(1) 1 @ -1

(3)

BT B T)
&Y o e

(1) (~6+\/§)+\/§ (1+ 2&);‘

(4) -

a + ib

(35)

137.

138.

139.

The function :

1,
f(x)=[_l '

X is irrational
x is rational
18
(1) discontinuous at x = 0 only
(2) discontinuous at rationals only

(3) discontinuous at irrationals only

(4) discontinuous for every real x

Sum of infinite series —é i i
416 64

(1) 1 (2) -1

(3) (4) -

Express (— \/E + \/3) (2\/-3_ - ﬁ)

into a + b form

(1) (—6+\/§)+\/§ (1+ 2«/5);’

(2 (+6—J_)+J§(1+2J§)i
(3) (—6+J§) \/§(I+2J§)z
4) (-6++2)+v3 (1-2v2)i

Level-3/178
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140.

141.

142.

143.

U
3 2 3 5
()@

mn1 (2 3

3 5 4 7

(x+2y)° & maR ¥ x%y3 @ ToE
am

(1) 672 (2) 572
(3) 472 (4) 272
cosTx + cos5x _

sin7x —sin 5x

(1) cotx (2) tanx
(3) sinx (4) cot Tx
lim sin4x _

x—>0 8in 2x

1 1 (2) -1

@) -2 (4) 2

(36)

140.

141.

142.

143.

The degree of the differential
d® a2y’ (dy)

equation o +x2 bl +[_y)
dx3 dx? dx

+ y']r =0 is

1 1
3) 5

(2) 3
4) 7

In expansion of (x+2y)9, coefficient

of x© 5}3 is

(1) 672 (2) 572
(3) 472 (4) 272
cos7x +cosbx _

sin 7x —sin 5x

(1) cotx (2) tanx
(8) sinx (4) cot Tx
lim sin4x _

x—0 8in 2x

(1 1 2) -1
(3) -2 4) 2

% Fd 3 [T TE/SPACE FOR ROUGH WORK

Level-3/178
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(37) A
144 : 2 S A 144 . : :
. 2 1\n n ni\n i .3 x 2
im0-3f 1313 |- alfo2f( 2 2]
R n n n
5 _
W1 @ 5 W 1 @ 2
e
3 4
e ) e
n L]
146, Jog 1080t g, 1. Juog 428805 5, _
o 4+3cosx 0 4+ 3cosx
3 3
1) 2 2) = 1) 2 2) =
(1) (2) 1 (1) (2) 1
(3) 0 4) -2 3) 0 4) -2
146. *C, +*c,; = 146 20420
&) 8,4 @ ¥ 1 *¢,., B .
(3) k+lcr (4) k-+lcr+1 (3) k-i-].cr (4) k+lcr+1
147. sin{%—sin'l[—%]}z " 147. sin{g—sin"l(-%]}z
1 i}
W 3 @ 3 M % @ %
1
® @ 1 @®) % ) 1
% & % [T SE/SPACE FOR ROUGH WORK
Level-3/178 P.T. O.
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148. @ THA@l 2x + 3y + 4z =

149.

150.

http://haryanatet.com

4
Ax + 6y + 8z=12% WA T EFN

(1) 2 (2 4

..

V29

3 g fag (3, -1) W wEERa fE
ST, T TG 2x — 3y + 5 = 0 H 47
W T BN 7

(1)
2
(3)
(4

3) 8 (4)

2x+3y+5=0
2x-3y+14=0
-2x-3y+14=0
x+y=0

%waﬁw‘qﬁm

X
() e
(2) e”*

m =

@) e

1
(4) e°

(38)

148.

149.

150.

Distance between the two planes
2x+3y+4z=4and 4x+ 6y +82=121is
(1) 2 2 4

2

J29

Equation of line 2x — 3y + 5 = 0 is

(3) 8 4)

change into which new line, if origin is
shifted to (3, -1) ?

(1) 2x+3y+5=0
(2) 2x-3y+14=0
(3) —2x-3y+14=0
(4) x+y=0
) |
The maximum value of — 1is
xI

(1) e
(2 e°

_1
@3 e °

1
(4) ef

% & 3 T TTE/SPACE FOR ROUGH WORK

Level-3/178
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10.

1.

12
13.

14.

15.

16.

17.
18.

19.

20.

. UAD
el

http://haryanatet.com

gl @ IR, oK e § PuiRa @ @ se/Aer
g @ge W ¥ piowm Fer s 2 oW AR
framar mar & -

O e O ®

T gRT 3 T SR e HET W, Aty SR ard
@M B = yeR | Ra §

© ® ©® @

Ify v | v @A B OoR oF § A e IR wad
HET ST |

. X6 HH e gRasT § 39 WA @ fag & g el

e W B |

. Wl STR PIA OMR STX TIF W & 3T | o0

I difsa | ITR FEEH oY WA WD
(ahe voqe) o wam fAftg 21

e & faw Ry T ar e § 9 sfua faws

% fort OMR SR 93@ W $ad U@ g $ & Q@ TRE

/T 9t @rge 39 ¥ W | U aR SR 3ifed aA

@ 9% S g1 A& ol W 8 |

aregeff

IR
qﬁquﬁwmmmﬁw 5

_ _uﬁﬁqﬁf#(ﬁauﬁmgﬁﬁwqﬁwmik
wHiE ¥ A= @ Rufd @1 srear) gavt oderr gRaer
We gverar 7& #varg gt |
qﬁmgﬁaﬁvaﬂ?mﬁﬁqwmﬁmﬁﬂﬁ
e I o um # ford |
areft B oden gie/PE ¥ Waw F1e @ faRa B
YBR &) TeTaHT, 1 gwafafea wrTa o ufdiEr,
, AIaTEE B, e Suser a1 & o yeR
B |l B A OH AT SUANT PR B AR 7E 2|
e gRT g8 oM W ge el g waw #ré
(et o) feamt |
B oHEe a1 hge @ P oEfy & R @R
aneft 3T v F B9 |

g

e WO BN W), areefi wer /B Bied 9§ qd ST
TG B @1 vy iy & | aref] aoe W g|
e YRR BT A O T B |

6.

10.

11.

12.
13.

14.

15.

16.

17,
18.

19.

20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

o e O ®

The answer will be treated wrong, if it is marked, as
given below :

© ® © @

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written; bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall /room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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